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ECONOMIC DICTIONARY

. Differentiate bstween frictional, . As you read the section, look for the
seasonal, structural, and cyclical definitions of these Key Terms:
unemployment. L e frictional  unemployment
3. Describe how full employment is ¢ unemployment rate

measured. i e structural e full employment

. Explain why full employment does |  unemployment ¢ ynderemployed Frictional: people
not mean that every worker is . e globalization e discouraged beéﬁﬁﬂé?%ismr
employed. ¢ e seasonal worker
: unemployment
L ; Seasonal: company
) * cyclical or industry shuts

unemployment _down for a seaso

b Economics and You Many people face unemployment at
some point in their lives. For the jobless worker it is a very personal issue.
For the government, it is a national economic issue. Economists measure
the health of the economy by tracking the number of people who are out
of work. The government pays close attention to these statistics so that it
can take actions that will spur economic recovery.

Principles in Action General economic conditions, lengthy job searches,
and seasonal productlon schedules are some of the factors that cause

Types of Unemployment

Economists look at four categories of unemployment: frictional, seasonal,
structural, and cyclical. Sometimes, factors outside the economy can cause
unemployment. The various kinds of uncmpiovment have different effects
on the economy as well as on the people who are unemployed.
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Go to the Visual Glossary Go to Action Graph Online Go to How the Econorny Works
Oniline for an interactive review for animated versions of key Online for an interactive lesson
of inflation. charts and graphs. ‘ on structural unemployment.



How do workers deal with 4
structural unemployment?

The United States has shifted from a manufacturing economy to a service
economy. Many workers do not have the skills needed for jobs in the new
technology-based industries. Structural unemployment occurs when workers’
skills don’t match the jobs that are available. o

Reginald’s position as  Jennifer’s job was Matthew’s job as a
an accounting manager  outsourced when the landscaper was

was eliminated after the  furniture manufacturer she eliminated when the
company upgraded toa  worked for moved to Parks Department’s

new computer software  another country. budget was cut.

program. UNEMPLOYMENT |
BENEFITS

Reginald contacts former associates
and gets a couple of interviews.

Jennifer realizes that she needs to get
training in another field.

Matthew searches online for a new jbbr bu

Hannah was not satisfied working as
a nu, se in a large hospital. Last month new job i.mmediately.
he left her job to look for a position
at a small health clinic.

00

@ tructural Unemployment

As vou read in e Ot crreiyetis
e Since Jorge graduated from law school s you read in Chapter 9, the structure
three months ago, he has interviewed th American economy has changed ove

AAAAAAAAA eE T 1

with various law ﬁvmq to find the one } i —
2T T3 Val lfl ¥ AY '|

that best suits his needs and interests basic farmis ng S skills o survive.

. - country developed an ind
e Liz left her sai& job two years ago to - ’
. : - o farm workers moved to urban areas

care for an aging parent. Now she 18 .y

work in factories. lodavﬁ service indus:

trying to retu m to the workforce, )
’ tries are

rapidly re

manufacturing

MNone of we

are i‘.ﬁumuauy UIEIL C%@ All these shifts lead to upnt avals i
diverse U.S. economy, economists labor market. When the structure of ¢

find many people in this category. economy ch 1anges, the skills that work

yed.

structural ’ . :
unemployment type Unemployment ,nwza nce, which need to succeed also change. Workers
of unemployment that  provides income to laid- sz‘ workers  who lack the necessary skills lose ®
occurs when workers”  geelking new jobs, may contribute slightly  jobs. Structural unemployment occurs
skills do not maich )

those needed for the  tO  frictional unemployment A worker  workers’ skills do not match those need

jobs available  receiving unemployment insurance faces  for the jobs that are now available.
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For an animated, interactive version of
| this feature, visit PearsonSchool.com/PHecon

Reginald continues his studies
and his job search. Although he gets
some temporary jobs, Reginald is
underermployed.

Jennifer finds a good position as a
technician at a pharmaceutical
company.

Heginald’s recent
exoersm« > inspires him to
garn a degree in business
technology management,

Matthew will earn more money as a
plumber than he did as a landscaper.

Jennifer gets into a federal
iob training prograrm for people who have

jost their jobs due to globalization. She is

(L 4 el g L b

studying to become a biomedical technician.©

Matthew, who likes to work with his hands,
takes a friend’s advice and enrolls in a
technical school. He is training to become

a plumber.

Check Your Understanding
1. Identify three causes of structural

unemployment.
2. How can the education system help

reduce structural unemployment?

Eiﬂﬁm?‘)i'r)}’mfﬁﬁ a f‘CSUhﬁ, traditional i
have declined. i

e ad) | 3 .
¢ The development of new wo%ﬂz}f@gy o Globalization T :
i
New inventions an dea, mtw pus and labor has fue |

Pl

ouf ()Ed@f Ways ()

gwnanwt it the shift
from local o global
markeis as countries
seek foreign trade and

invastment

Changes wn consumer demand
iunsumum mi er stop buying one s
product in favor of another. Mwy

people now favor athle
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seasonal
unemployment type
of unemployment that
occurs as a result of
harvest schedules,
vacations, or when
industries make
seasonal shifts in their
production schedule

cyclical
unemployment
unemployment that
rises during economic
downturns and falls

when the economy
improves

| Personal Finance

| For more about how

% to find a job, see your
; Personal Finance

- Handbook in the back

+ of the book or visit
PearsonSchool.com/PHecon

Migrant farm workers
face seasonal unem-
ployment once the
harvest season is
over. ¥

job market may find themselves
unemployed, employed part-time, or
stuck in low-wage jobs. For example,
Martin barely managed to graduate
from high school. When he was hired
as a clerk by a local clothing store, he
had trouble using the computerized
checkout register. The store manager
fired Martin after just two months
because he lacked the skills needed for

the job.

Policymakers in the 1990s and 2000s
recognized that computer technology,
globalization, and other structural changes
threatened the futures of many workers.
As a result, they developed job-training
programs to help workers gain new skills,
especially computer skills.

Retraining takes time, however, and the
new skills do not ensure that the trainees
will obtain high-wage jobs. Some compa-
nies offer their own training programs.
In this way, they can teach trainees the
specialized skills they need to become
valued employees.

Seasonal Unemployment

Gregory is a brick mason for a small
construction company in the north-
eastern United States. Every winter
Gregory s employer lays off all seven of

.

V (9
an end to outdoor work. In tk
he hires them back again for the new

‘Migrant workers can also have periods of

construction season. Gregory and his
co-workers are examples of people who
experience seasonal unemployment.

In general, seasonal unemployment occurs
when industries slow or shut down for
season or make seasonal shifts in their
production schedules. Seasonal unemploy
ment can also occur as a result of harvest
schedules or vacations. When this school
year ends, you or your friends may need
some time to find the perfect summer job. .
Until you do so, economists will count you
as seasonally unemployed. s

As with frictional unemployment, econo-
mists expect to see seasonal unemployment
throughout the year. Government policy-
makers do not take steps to prevent this
kind of unemployment, because it is a
normal part of a healthy economy.

Still, the lives of seasonally unem-
ployed workers can be extremely difficult.
Migrant agricultural workers, for example,
travel throughout the country to pick
fruits and vegetables as various crops
come into season. They know that their
work will likely end when winter arrives.

uniemployment even during harvest season,
depending on the weather. Heat, cold, rain,
and drought can ruin harvest schedules
by causing fruits and vegetables to ripen
later than expected. Instead
of moving smoothly from crop to crop,
migrant workers might lose work time
waiting for a crop to be ready for picking.

sooner or

Cyclical Unem
Unemploymenr that rises

downturns and falls when
improves is called cyclical unemp
During recessions, or dew; r
business cycle, the dermr
services GTOF}‘L The resu hmgj s%wdown in
the *emfmd for iwef

employees will be rehired w
sion ends and the business e
an upward U‘emi Although economis
expect evchcai unemployinent, it
severely strain the economy and g
th unemploy—ea.

The most damaging exampi
unemployment in the twentieth ¢




the Great Depression. During the Great
Depression, one out of every four workers
was unemployed. Many remained jobless
for years. In 1935, President Franklm D.
Roosevelt proposed, and Congress passed,
the Social Security Act. In addition o
providing monthly payments for retirees
and people who could not support them-
selves, the Social Security Act established a
program of unemployment insurance.
Today, unemployment insurance still
provides weekly payments to workers who
have lost their jobs. The payments usually
provide about h ,alf of a worker’s lost wages
each week for a limited amount of time.

Sometimes events outside the economy can
cause unemployment. The September 11,

2001, terrorist attacks on the World iradc
Center and the Pentagon cost the country
an estimated 1.5 to 2 million jobs. Many of
the lost jobs were in the travel and tourism
industries. About 20 percent of the lost jobs
were in the airline industry. In Manhattan,
the area around the World Trade Center
site was especia]ly hard-hit, and New York

oy N s
Lity 1ost some 150 UUO JOOS.

ment. In October 2005, Hurricane Katrina
slammed into the Gulf Coast region. The
e w\rPr{u storm cansed ‘(?V!HPQY\Y’@G 4 degtrie.
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tion and thousands of people iost their jobs.
other areas
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Natural dxsasters also affect employ-

Dividing 7

Rate

To calculate the unemployment rate, use the
following formula:

Galculating the Unemployment

¢

To calculate the

unemployment rate,

Number of people unemployed i
number of people in the civilian !abur force

1.

if the rmmmw of people unemployed = 7 million
and the number of people in the civilian
labor force = 151.4 million

the unemployment rate is 4.6%

SOURCE: Bureau of Lahor Statistics

poll 60,000 families about employment
during that month. This sample is designed
to represent the entire population of the
United States. The BLS, a branch of the U.S.

D(j‘hﬂjj-iqr—-i‘gt W 1abor
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unemployment rate, or ﬁh
nation’s labor fore

unemployment rare, Bl

/.2 mz!mm were
labor mru; ﬁih(‘:i"(ﬁf(,)ri”, W
.2 million b y

then multiplying
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CHAPTER

A

foliow the steps in the
chart.

In May 2008, the

civilian labor force

was 154.5 million
and 8.5 million were
unemployed, What
was the unemploy-
ment rate?

Does the unem-
ployment rate
accurately refiect
the number of
people who are
unempioyed? Why
or why not?
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snderemployed
working at a job for
which one is over-
quahhed or working
part-time when full-time

work is desired

an unemployment rate of 4.7 percent for:
that month.

the rate has been lﬂC_I'C&SCd or decrease

to take into account the level of seasonal
nemployment. Taking this step allows

Unemp nent, 1aking tils

- s "nare

economists to more anu‘EaLtl‘f compare
] rates from month to

D

f’

month. This comparison heips them better
anging economic condition
The m'zczm‘i;y rate is only an

R R T
f1o1. it Goes not

average for the
regional « iﬁ‘?fm ences. Some

CHECHPOINT How is the unemployment
rate calculated?

sas ECONOMIC CHALLENGES

ACT'1 Personnel Services

. Full Employment

Look at Figure 13.2. Notice the low levels
of unemployment in the late 1990s and
early 2000s. As you read earlier, zero un-
employment is not an achievab oal in
a market economy, even under the best o
circumstances. Economists generally a
that in an economy that is working prop-
erly, an unemployment ratp of around

4t06 percent is ncrmal Such :

fody

o
i
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ng at 4 ;ﬂ b §m
over-qualified, or working part-t *‘r: whi
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For exampie Jim, a phﬂosophy major,
carned a graduate degree in philosophy.
When he left school, Jim found that

although the economy was booming, he
could not find jobs in which he could

Unemployment Rate

suae
(=]

T
jo]
c i
g 91 !
apply his 3W>WBP§¥“€ of philosophy. Jim S g
- s al - H {
found a part-time job that did not pay well =N
. = : i "
and did not Ch&ﬂ;mge his mind. He was S 6 il
underemployed. E i
Underemployment also describes the g 4.
. . ; ) 5 .
situation of peopi‘»‘ who want a perma- g 3
nent, full-time job but have not been able g %
to fmd one. Many part-time workers and g ; ,
easonal workers fit into this category. S Yo70 1975 1980 1985 1990 1995 2000 2005 2010

Year

SURCE: B Y by Shatictiee
SOURCE: Bureau of Labor Statistics

Some people, a long
recession, give up hope of ﬁndmg W rk
These discouraged workers have stopped

searching for employment and may rely

The unemployment rate peaked in 1982 and 2009,
1. In what years was the unemployment rate between 4 and

on other family members or savings to & percent, the rate considered normal for a healthy economy? ;
support them. Although they are without 2. Why does a high unemployment rate correspond with a
jobs, discouraged workers do not appear recession?

in the unemployment rate determined by
the Bureau of Labor Statistics because they

are not actively looking for work. estimates are that the 2009 unemployment |
If underemployed and discouraged work- ~ rate would have been above 17 percent. discouraged worker T
At someone who wants |
YL RTETE 1"](“]1/}[—‘{} r{’\P Hﬂl—)mhh\\lrﬂl—‘ﬂT yare [ #
ers were included, the unemployment rate . A : a job but has given up i
would be much higher than reported. Some * are presenf even in a healthy economy? iooking 3
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FEPTER L fLN
g iow does the Bure ¢
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;;%%:os‘ le were employed ¢
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secTion £  Inflation

OBJECTIVES ECONOMIC DICTIONARY
1. Exptain the effects of rising prices. | As you read the section, look for the
2. Understand the use of price : definitions of these Key Terms:
, indexes to compare changes in i e inflation » core inflation
j prices over time. ¢ e purchasing rate
| 3. Identify the causes and effects of |  power e hyperinflation i
. . : L . inflation
inflation. . e price index ° quantity theory e r——
4. Describe recent trends in the e Consumer Price o wage-price
! inflation rate. : : © Growth of the money  Decreases purchasing
| inflation rate : Index spiral | supnly powWer
j o market basket e fixed income * Changes in aggregate =~ | o
it ) ) . demand, as during wartime
| e inflation rate e deflation

imre;:;l;tg:i';:sg:;ig P Economics and You At first, the changes are hardly notice-

aneconomy able. You pay more for lunch at your favorite eatery. Your personal
grooming products are more expensive. Clothing prices are higher. A
ticket for the movies costs two dollars more. You realize that as a result
of these steady price increases, your money doesn’t buy as much as it did

just a few months ago.

Principles in Action As you will see, you cannot escape rising prices.
Economists believe that the, money supply, changes in demand, and

purchasing power
the ability to purchase
goods and services

increased production costs all contribute to a rise in prices throughout
the economy. This section’s Economics & You shows how higher prices

affect your life.

ﬂiﬂﬁ
3

agol
LA 41

&b

Josephine and Jack Barrow have owned the same house for 50 years.
| Recently, they had a real estate agent estimate their home’s present
market value. The Barrows were astoun: ed. The house that they had
bought for $12,000 was now worth nearly $150,000—a rise in value of
more than 1, LOO percent.

I 1 Iy
How could the value of a

The main reason is inflation. |
an economy. 0%:‘ the years,

es Lﬁfw/u ru}m or

YWs were p ple JSLC% hﬁa

had s%ruzw f’mf‘ value, or purchasing power, of the Barrows’ money
Purchasing power is the ability to purchase goods and services. As prices
‘ power of money declines. That is why $12,000 buys

iR £

ise, the purchasing 1

4 The effects of inflation over the years  yych less now than it did 50 years ago.
can be seen in this comparison of prices

! for basic food items. !

| CHECKPOINT Why does purchasing power decrease over time?

i 342 ECONOMIC CHALLENGES




Price Indexes

Housing costs are just one element that
economists consider when they study infla-
tion. The economy has thousands of goods
and services, with millions of individual
pvfus How do economists compare the
changes in all these prices in order to
measure inflation? The answer is that they
do not compare individual prices; instead,
they compare price levels. As you read in
Chapter 12, price level is the cost of goods
and services in the entire economy at a
given point in time.

To help them calculate price level, econ-
omists use a price index. A pm:e index
is a measurement that shows how the
average price of a standard group of goods
changes over time A price index produces

earlier averages to see how much prices
have changed over time.

Price 1JLdLACb uc:lp COnsuIners and busi-
nesspeople make economic decisions. For
example, after Marina read in the news-
paper that prices for consumer goods had

been rising, she increased the amount of

money she was saving for a new car. She

wr + thar wohon | P .

wanted to be sure that when the time
L 1 1 1 1

came to buy the car, she had saved enough
ey to pay for it
f‘m’ government also uses indexes in

making policy decisions. A member of
{:(}’igﬁfSSSj ﬁoz e‘{ampl& might push for an

il
angd the oavermment

GaiRE RaiLe Gl

tan compare the cost of a group of mmde

L0

1
g Hwniﬁj \/Unp U\/Hdi wnp» SATNE OF S?VZ :

i

group cost months or even years ago.

' categor es ol guuus ar
14 b4

Food and Drinks

cereals, coffes, chicken,
lk, restaurant meals

Housing rent, homeowners” costs,
fuel oit
Apparet and men's shirls, women's
upkeep dresses, jewelry
Transportation ares, new and |

; asoling, auto insurance

Medical care prescription medicines, eve

care, physicians’ services

Entertainment newspapers, toys, musical

(m;mm ents

. Education and
communication

tuition, pestage, telephone
services, computers
haircits, cosmetics
bank fees

{Other goods
and services

SOURCE: Bureau of Labor Statistics

As you can see from Figure 13.3, the
CPI market basket is lelded into elght

es. | HLSC

use it to ¢ 1&1@ ihe inflation mﬁ,?

m

CPl Market Basket ltems

The CPIl market basket
helps economists
calculate the average
inflation rate for the
country.

1. Why might an
individual family
experience an
inflation rate that
is higher or lower
than the national
average?

2. Which categories
of market basket
items are currently
experiencing sharp
price increases?

gmmﬁ of a standard
group of goods changes
over time

infiation rate the

change in price level
over time

CHAPTER 13 SECTION 2 D43




Average Price of a Ticket for a
Major League Baseball Game

Average Price of a Movie
Theater Ticket

g,
s ’, 7
U
"

Y

7

%

Vs

< inflation a general rise in
prices across an economy

To expand your understanding of
this and other key economic terms,
visit PearsonSchool.com/PHecon




To determine the CPL, the BLS establishes
a base period to which it can compare
current prices. Currently, the base period
is 19821984, The cost of the market

basket for that period is the
M - o - T8 ooy P F G
index number 100. Every month, BLS

representatives z!pd&te the cost of the same
market basket of goods and services by
echecking all fhe ;me‘ef‘ Fach updated

cost is compared with the base-period cost
to determine the index for that month. As
costs rise, the index rises.

The BLS determines the CPI for a given
vear using the foli('ywmg formula.

ﬁ L WPRIAiel LGL

For examp]e, suppose the market basket
cost $200 during the base period and costs
$360 today. The CPI for today would be:

Y4

JIOY

$200 < 100 = 180

In this example, the CPI rose from 100
in the base period to 180 today.

ma
st,,

1
Inflation rates in the United States have
changed greatly over time. When the
inflation rate stays low—between 1 and 3
—it does not typica
fffn’:,af ﬂ"e econom
businesses and gos
plans. \X/hm the mft i

]\J causge probh-

hlS en

Mr.
<
-
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-
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even 500 percent per month, and mone‘y

when they try to underst

inflation Rate

Th o
i3 g’%‘% High fuel aﬂ
| food prices

12

o

Percent change
< ewd

[>T S R

1974 1975 1982 1986 1990 1994 1998 2002 2006 éﬂﬂ]

Year
SOURGE: Bureau of Labor Statistics

B A

1874 and 1980 were due in part to

increases in food and oil prices. An inflation rate of 1 to 3 percent

does not typically cause economic problems.

1. In what two years was the inflation rate highest?

2. Why was the period from 1974 to 1982 a difficult time for people
on fixed incomes?

Sharp inflation rate increases in

(Simuiation Activity)

Creating a Teenage
Consumer Price

Lt T 1 i

loses much of its value. This level of i
tion is rare, but when it occurs it oftf:ﬁ
leads to a total economic collapse

) Index
 CHECHPOINT How de sconomisés You may be asked
calculate the CBIZ to create & E’eeﬂage

Consumer Price Index
as partof a ml»«;)!aying
game

g

rise steeniy when

can

agujwi »’L;& e

ges in fwggre gate supply

, AT i C hax

Fconomists look ar

DEGCESS.
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CHART SKILLS

Inflation caused by

the push of higher

costs can lead to a

wage-price spiral of

increasing prices.

1. Why do rising
food prices fuel

a wage-price

spiral?

2. How might
globalization
and outsourcing
affect the wage-
price spiral?

guantity theery the
theory that too much
money in the economy
causes infiation

SPoRety The Wage-Price Spiral

&) The rising cost
of Am-Gro products
leads to rising costs

@) The wage increase
for farmers.

leads Am-Gro to
raise the price of
its products.

€ Am-Gro
Fertilizer
employees
win a wage
increase.

rowth of the Money Supply
he guantity theory of inflation states that
too much money in the economy causes
inflation. Therefore, the money sunply
should be carefully monitored to keep it
in line with the nation’s productivity as
measured by real GDP.

Economists at the University of Chicago
developed a p

-

opular version of this theory
in the 195 Os and 1960s. They maintained
that the money supply could be used to
control price levels in the long term. The
key to stable pf;{,es, they said, was to
ncrease the supply of money at the same
rate as the economy was growing.

ice levels, : :
:
occur >mand for goods ;md services

exceeds existing supplies. During wartime,
for example, the government’s need for mili-
tary supphis puts pr@ssurs‘:‘ on producers.
The heavy demand for new equipment,
supphes and Serwce‘; increases the value

346 ECONOMIC CHALLENGES

€% In response to pricei‘s lead to
rising costs, Zmp OV:_ES
farmers raise emanding
higher

@ Rising food

their prices.

also rise as the demand for labor increases
«.along with the demand for goods.

Changes in Aggregate Sup;
Fmahy, inflation occurs when producers
raise prices in order to meet increased costs.
Higher prices for raw materials can cause
costs to increase. Wage increases, however,
are most often the biggest reason, because
wages are the iargem: single production
cost for most companies.

One cause of wage increases is low
unemployment. Employers must th
offer higher wage% to attract
Wage increases can also occur as a resul
of collective |

union laborer at:
i mmx she %el{mg%

ever- nsghfsr mw)%, bmam«; one mne reast m
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higher wages, is known as the wage-price
spiral. The effect of a wage-price spiral on
Am-Gro Fertilizer is shown in

¥ CHECKPOIRNT
of infiation?

What are the three causes

Effect

Jigh inflation s a maior economic

problem, especially when inflation rates

change gmar!y from year to year. Buayers

and sellers find planning f
fﬁcu? if not impossible. The

uflfm(m can be seen mainly in purchasing

power, income, and interest rates.

:rir

\rou have seen, in the example of Jack and
Josephine Barrow s house, how inflation
can erode purchasing power. In an infla-
rionary economy, a dollar will not buy the
same number of goods that it did in years
past. When there is no inflation, $1.00
buys the same amount of goods it did in
the previous year. If the inflation rate is
10 percent this year, however, $1.00 will
buy the Mu*V"‘ent Qf only $.90 worth of
goods today. In this case, the purchasing
power of a doﬂar has fallen. '

ot always, erodes
ce atreh the nfls
DCS inﬁL\ull il }JiLiaA

rare, a

worker’s real income stays

e same. People w 10 do not receive their
mcome as wages, such as doctors, lawyers,
'ﬁwnam can often increase

up. The Barrows,

‘)g(m’ \/ }Yl\/gilﬁ‘“ﬁlm i’i
the price

PN o .
IS8 minveia
BV 1 §

with inflation. Much of their income,
however, comes from a pension fund that
pays them a fixed amount of money each
month. Inflation steadily eats away at the
real value of that pension check.

People receive a gwc“ amount of intere

on money in their savings accounts, ?ta it
their true return dcpends on the rate of
inflation. For example, Sonia had her
avings in an account that paid 7 percent
interest. At the same time, the annual
inflation rate was § percent. As a result,
the purd’xagingj power of ‘i(mia’s savings
increased tnat year by omy 2 pemwt

because 5 percent of her

needed to keep up with inflation.

o your

instead of a cross-couniry
vacation to see the Grand
Canyon, your family takes
some day trins. Due o
higher prices caused by
inflation, your family
cannot afford to travel
across the country.

wage-price spiral the
process by which rising
wages cause higher
prices, and higher prices
cause higher wages

fixed income income
that does not increase
even when prices go up

& As a consumer, you can
ey Floth hanged vour




deflation a sustained
drop in the price level

When a bank’s interest rate matches
the inflation rate, savers break even. The
amount they gain from interest is taken
away by inflation. However, if the infla-
tion rate is higher than the bank’s interest
rate, savers lose money.

& CHECKPOINT What happens when
income doesnt keep pace with inflation?

Recent Trends in Inflation

Americans over age 30 have experienced
tairly low inflation rates for most of their
lifetimes. In the late 1990s, unemployment
levels were low. Typically, low unemploy-
ment leads to higher inflation because
companies compete for scarce workers by
offering higher Rising wages can
push the inflation rate up, as you know
from the discussion of the wage-price
spiral. However, inflation crept along
at less than 3 percent. Some economists
suggested that the omy was going
through a lucky strea k. Others argued that

wages.

eran
LU

levels of unemploymem hat had existed in
the 1950s and 1960s.
As the economy entered

nﬂanon fell to less than 2 p

Gritical Thinking

unemployment and falling capital invest.

ment removed two factors that might have

led to inflation due to increases in aggregate
supply. Prices at times seemed to be falling,
Some experts even predicted a period of

defiation, or a sustained drop in the price
level. However, the economy recovered.

Although inflation remained relatively
low through 2007, by mid-2008, soaring
energy costs had pushed the inflation rate
past 4 percent. The CPI recorded its biggest
monthly gain since 1982. Consumers,
pressured by sharp price increases for food
and gasoline, had less demand for big-
ticket items such as household appliances
and automobiles.

By the end of 2008, the econo my ,
in crisis. A severe recession led t
slowdown in economic activity. Global
demand for oil dropped and the price of
gasoline plunged by 30 percent in one
month. The CPI was 3 percent lower than
it had been just three months earlier. The
record decline in retail prices and sales put
added pressure on the federal government
to solve the economic crisis and avoid a

Lf’)

_deflationary spiral in prices.

xﬁ%@@g €HECKPOINT How does low unemploy-

ment lead to higher inflatien?

Math Skills

Use your completed chart to answer
is question: What are the
and effects of inflation?

. Extension T@n years ago you could

ey v T

buy a soda for $0.75, Today the same
soda costs $‘ 25. What facto
might have caused the price of the
soda to rise?

o
3

£

&

:
?*

B4

gmma asmg p@W@r"
. Why is the Consumer Prics
important?
. "‘\l?"at is hyﬁegiﬁfiaﬁan?
8. 1

index

-

and how dees it ’iffﬂm the econom y.f
What are three possible effects of
inflation? Exp]qlp or q}\j@ an m)()rﬂn»m
of each.

ECONOMIC CHALLENGES

xplain {a) What categories of
cods and services are included in
CPI market baskpt" {b} What
e purpose of including these
Clely!

ries? (e} Why might an indi-

9°
e m

[ family exnerience an infliatinn
"A’iwmmé fainiiny SAMTIGNIOE OGN Winiauilin

rate that is higher or lo
national average?

W,App y ia) Accordmg 1o the quami'ty
theory, what ¢
{0 j Baspa on inis theory, tow can
inflation be prevented? {c} What
o Oia can the government use to
achieve this goal? Give at least two
examples.

uses inflation?

il

11.Suppose the market basket cost
$800 during the base period and
1}1 ,800 today. What is the CPi for
today? (Remember, to calculate
C; |, divide today’s cost by the base

p‘i‘" vl onet ancl my uH‘gnl\V/ h\l 100, b

Visit PearsonSchool.com/PHecon
for additional math help.
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Causes of Poverty

Lack of education | Less education equals lower wages

1. Define who iz poor, according to As you read the section, look for
government standards. ¢ the definitions of these Key Terms:
2. Describe the causes of poverty. S boverly threshold
3. Analyze the distribution of income in : © poverty rate
the United States. . e income distribution
4. Summarize government policies ¢ food stamp program
intended to combat poverty. : ® Lorenz Curve

e enterprise zone

e block grant

e workfare

P Economics and YOU  The United States has millions of people

living in poverty. It also has one of the highest per capita GDPs in the

world. How can that be? Looking at poverty rates among dlfferent groups
f Americans reveals some important reasons.

Principles in Action Statistically, you are at greater risk for living in
poverty if you come from a single-parent home, live in the inner city, or

do not have at least a high school education. chm« factors, including the
way that income is distributed, also affect the poverty rate

The Poor

H H - e i N -
As you have read, the United States Burcau of the Census

conducts extensive surveys to gather data about the American
people. Its economists then analyze the data and organize it
to reveal important characteristics. One key feature t they look
at is how many families and households live in poverty. The
efines a family as a group of two or more

h, marriage, ora npf%o who live in the

A bousehold is all people who live in the
, regardless of how th ey are related.

Accordir ng to the governmen whose wmi

income ig 3&’8?—‘ é"ﬂmz the amoun

he pwew threshold, required to mee s
he poverty threshold is th@ mcome level he, ow

ph 4
a far xmy Oor f?(Ju 1 ﬁz

: ufficient to support
fhf-‘ W)vuty ‘eshold, or poverty line, varies with the size
of the family. }b r example, in 2006, the poverty threshold

for a smgu: pare At under age 65 with one child was $13,896.
For a family of four with two children, it was $20,444. if a
iamziy s total income is below the poverty threshold, everyone
in the family is counted as poor.

poverty threshold
the income level

below which income is
insufficient to support a
family or household

Limited job opportunities and lower
levels of education are some of the
factors that contribute to rural poverty. ¥

R



Poverty Rate Causes of Poverty

: = ‘ Put simply, a family is poor when the adults
i GRAPH SKILLS ' in the family fail to earn enough income to

20 - -  hones .
In 2008, 13.2 percent of v B N pr.ov1de for its members basm needs. This
I the population equals S 6l S failure to earn adequate income is oftep
i 39.8 million people. z £ . the result of unemployment.
[} . . . .
i 4. What happened Tt 7 , { As you read in Section 1, millions of
| =3 . !
';?Otgi ggﬁ:éggo = o Americans are unemployed for a variery
omad T Ik of reasons. While they are out of
2. Why do you think - =2 8 y a
s . ) S . '
the government EE s job, their families might well fall below
1 tracks the poverty g 4 the poverty threshold. Many other poor
rate? 2 adults are not even considered a part
2988 19 1996 2000 2004 2008 of the labor force. Some suffer from
chronic health problems or disabilities
;, Year that prevent them from working. Others
‘ SOURGE: .S, Gensus Bureay are discouraged workers who are no
i 3 . ~ §
i longer looking for work.
Many poor adults do have jobs,
Tl D tor Bimt however. In fact, more than half of poor
(e Poverty Rale
households have someone who works at
I ~ Trends in the national poverty rate are | d five h
| " east part-time, and one in five have a
z shown in Figure 13.6. The poverty rate
| ; full-time, year-round worker. For these
is the percentage of people who live in “working poor,” the problem is usually
households with income below the official low waees or ja limited work sche Au‘p
vaerty t]_‘lresh()ld. 1 g S I i WOIK SCHCHRULL,
5 o . rather than the lack of a job. For example,
Poverty rates lor various groups arc¢ — p.y makes $9.00 an hour as a full-time
. " ") . 1Y °
shown in ;mum h.”ﬁWe E;” use povert); <clerk in a clothing store. While he is at
~~~~~~ o discover whom the rnmen L e o : '
AT AU tbt,ugu 01 4 ghm;e fact work, his wife stays at home with their
considers e poor and what factors ‘ T
© b P two young children. Although Ray works
seem to contribute to poverty. Poverty o per week, and his salary is well
. Lo 9 x O AL
rates differ sharp ly by groups, according above the minimum wage, 1118 annua!
to several different indicators: 230 H
; earnmgs amount to just $18,720, whic
o Race and ethnic origin The poverty rate below the poverty threshold frr a fam xf’
among African Americans, Hispanics, of four.
and Native Americans is more than twice Fconomists agree that poverty and
the rate for white Americans. lack of income go hand in hand, but they
o Type of Family Families with a single have different ideas about the causes
mother have a poverty rate more than of poverty. Here are some of the most
four times greater than that of two- important explanations for why some
parent families. people are poor.
® A;ge The ]CE(“CQ%W&,;’( of chi duﬁ:i}
rger %:'?mﬂ
sie mother. The
WVOree 4 081 Pf ifican E'} gince
1 rural areas also have a *8 the 1960s, as has the number of chil-
poverty raie the pmfcrrv rate, especially i n.,;e.gums dren born to unmarried parents. These
percentage of p:oﬁe where job prospects are limited. demographic shifts tend tc cesult i
who live in households ) } o o
! with income below the CHECKPOINT Wha is one reason for the single-parent families and
official poverty threshold higher poverty rafe in rural areas? living in poverty.

@
]
=}

ONOMIC CHALLENGES




ilts

{0
his
en

of
:ty
a
W

it
2}
€8
s

EE

|75 Rl ooy

g
<

WS L

worked,

~and men are often paxd mor

In most American cities, racial minorities
are concentrated in the inner cities, far
from the higher-wage jobs in suburban
areas. Many of these inner-city residents do
not own cars, and mass-transit systems are
often not an efficient means of commuting
from the inner city to the suburbs. As a
result, people who live in the inner city
earn less than people living outside the
inner city. Similar obstacles exist for many
people living in rural areas, where there is
little business or industry.

Racial and ¢ ' }

White workers generaﬂy earn higher
salaries than minority workers, and
men generally earn more than women.
Much of this income inequality can
be explained by differences in hours
education, and work experi-
ence. Part of the inequality, however,
results from racial and gender discrimi-

nation. Even when all the workers in a

group are equally productive, whites are
often paid more than African Americans,
than

WOF’IC"l LJC'DIH,H 118ts agree, LLUWCVClﬁ ta
t

Growth of i ¢
In the past, iesq Pd ated people could
earn good wages working in manufac-
turing jobs. Globalization, the decline
in manufacturing, and the rise of the
service economy has led to a decline in the
number of h;ghPr pavmg manufacturing
jobs. More workers with less education

o

now work in low-skill service jobs, where
W&QS&; are often not as high as they are for
factory jobs.

eshold for a
in that year. Hig% -school g
carned about two-thirds more than
he drnpouts and college graduates earned
more than three times as much.

r
i

¢ CHECHPOINT What are §
poverfy?

firee causes of

Poverty Rates by Group, 2008

White, not Hispanic
Asltan
Black

Hispanic origin

Native Hawaiian and
Other Pacific isiander

Native American and
Alaska Native

Under 18 |
Over 65

2-parent households

Female-headed
households

O Population
B Age ‘
i Houvsehold

1} 5 10 15

20 25 30

Poverty rate (percent)

SOURGE: U.S. Census Bureau

GRAPH SKILLS

Households headed by women, African Americans, Hispanics, and

Native Americans are more likely than other grou

ps to have incomes

below the poverty threshold, as this recent data shows.
1. Which population group has the highest poverty rate?

2. Why do you think

differences exist in poverty
groups? :

! median household
ates was $48,023
If the ho useholds

In 2006, the e
income in the
which means

Cf‘;ﬁ;

=

fon3l

pr g

a.

vy e
m Lol

ear md less. Th;s figure tells on?v part of
the income 1

Ci“iy in this country, you also ““cd to
ingome distribution, or how

total income is distributed

g: “"3
o Q_<z

3

[

reflect the effoct

of taxes or
mx"yu government d%u Bua’”i'}. as h(}i‘iﬁiﬁg
subsxdlm healthcare, or food stamps.
The food stamp pr ogram he} bs low-income
people buy tood Be p1ov1ded on

an electronic card cepted at most
food stores.

TUres d{» not

""5

CHAPTER 13

rates among

income msmmﬁﬁ@ﬁ

Fro
=

he way in which
nation’s total income is
distributed among its
population

iood stamp program

gn\/arnmavﬂ YWEOIIFArT
avernment program

that helps low-income
recipients to buy food.
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Extra Credit

traditional welfare.

s
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and for stavmg at hoteis in one
low-income Chicago neighborhood,
residents are earning rewards for paying
their getting their children to
school every day and seeking work,

The “Da‘t}‘wqy‘; to  Rewards’

i 1

program has awarcaea about $19,000

rent,

\ndw News Update Qniig‘gg

The Wall Street Journal
Classroom Edition

B2 ECONOMIC CHALLENGES

ANTIPOVERTY PROGRAMS
Incentive programs for the poor offer an alternative to

Use videos at PearsonSchool.com/PHecon as
a springboard for a discussion on a current topic.

THE WALL STREET JOURNAL.

| CLASSROOM EDITION

prompt meaningful long-term changes
for those entrenched in poverty.
No one is saying this small experi-
ment will be enough to transform a
poor neighborhood. “It’s a piece of the
puzzle,” says Crystal Palmer, a social
- worker with the nonprofit Near West
Side Community Development Corp.,
a partner in the Pathways to Rewards

ked away with a  program.
“The clients who are

) 3
DVD player, thanks to points earned doing well

re 1

1 D Iin are the clients  wi
mostly for attending Pl A meetmgs‘ {11 ahnways j arc ine cuenits wio
In the Pathways program, partici- are already motivated,” sa)s Vorricta

Harvey, program director for the Near
West Side CDC. “It’ s an incentive to
say, ‘You're domg well, keep it up.””

pants tell a counselor what they want
to buy and how much it costs. Then
the required number of points is set.

Fach puy tis v

A1 s
Lﬁ O1e aouar. winen

Willie

Rewards pr rograms are on
. to changing behaviors linke ,
¢ poverty. But rewards programs do
provide basic necessities as fraditio
welfare programs do. Use
tior iy this section 1o give @xam;:z
of other ways t
able to pull themsel




Look at the table on the left side of

Figure 13.8. To compute the numbers in the

1.

2.

table, economists take four steps.

First, they rank the nation’s households
according to income.,

Then, they divide the list into fifths,

or quintiles, with equal numbers of
hous J}f)ids in cach fifth. The lowest
spears at the top of the

> LRI

20 percent Ué

Ny

list, 3t

h(mzﬁho 1s. ’?hf‘ hz,@hmt fifth, shown
at the bottom of the list, 'wludez the
richest 20 percent of hm,z&ehcﬂda The
first column in Figure 13.8 shows this
division into quintiles.

. Next, they compute each group’s

sty

average income uy aglusdg up e
incomes of all the households in
the group, and then dividing by the
number of houscholds.

. Finally, they compute each group’s

spare, Or nercen e n‘: f’f\f‘/‘)l i15alele s ls)
sllait, UL pll centa votas U0

by dividing the group’s total income by
the total income of all the groups. The
second column shows each group’s
share. The third column shows the
cumulative total. (For example, the

Quintile

H B, 17 %

44 4%

tatls vy b greater than or less than 100 percent.

e of round

o bl o

lowest two fifths of households earned ~ Lorenz Curve the curve
12 percent of total income.) that illustrates income

distribution

Compare the share of the poorest fifth
with that of the richest fifth. If you divide
richest by poorest, you will see that the
richest fifth receives nearly 15 times the
income of the poorest fifth.

Now look at the graph on the right side

of | It shows that the numbers
for shares of total income, when they are

plotted on a graph, fﬂrm a curve. This
graph, called the Lorenz Curve, illustrates
the distribution of income in the economy.

Let’s see what this Lorenz Curve tells
you. First, read the label on each axis. Then
look at the straight line runnmg diagonally
across the bldljh This reference line repre-
sents complete equality. Under conditions
of complete equality, each quintile would
receive one fifth of total income. That

i
means the lowest 20 percent of households
would receive 20 percent of total income, as

shown b the point (lowest, 20). Sxmxlady,
the lowest 40 percent (the first two quin-
tiles) would receive 40 percent of total
income, as shown by the point (second, 40)

and so on.
. The tabie (jefl) shows
£ 100 family income ranked
I by category. When
§' an piotted on a Lorenz
- Curve [right), these
E data show the distri-

ggﬁiwﬁ Graph

nline;

PearsonSchool com/PHecon
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The electronic benefits
transfer card autho-

zess the transfer of

Frivate charities run
soup kitchens and food
pantries to help the

In 2006, the distribution of income was
not equal, as the Lorenz Curve indicates.
For example, the point (lowest, 3.4) shows
that the lowest 20 percent, or one fifth, of
households received just 3.4 percent of the
nation’s total income. The point (second,
12) shows that the lowest 40 percent, or
two fifths, of households received only
12 percent of the income. The area on the
graph between the line of equality and
the Lorenz Curve represents the amount
of inequality in income distribution. The
larger the area between the curves, the
greater the income inequality.

income Gap

As you can see from Figure 13.8, the wealth-
iest fifth of American households earned
more income (50.5 percent) than the bottom
four fifths combined. A study published in
1999 showed that after taxes are deducted,
the richest 2.7 million Americans receive
as much income as the poorest 100 million
Americans. Why are there such differences
in income among Americans? Here are
some factors.

* Differences in skills and education
a

re more highly skilled

[ i
Some people

than others, so they earn higher
wages. Labor skills are determined by

Inberitances Some people inherit large
sums of money and earn income by
investing it. Others inherit businesses
that produce income from profits.
Field of work Wages are determined
by the demand for labor. As you

read in Chapter 9, labor demand is

a “derived demand” because it is set
by demand for what people produce.
People who produce goods with a low
market value usually earn lower wages

James Webb, a former Secretary of th
Navy who won election to the United
States Senate in 2006, commented on th
growing income gap:

%%America’s top tier has grown |
richer and more removed over the past 25
years.... The top 1 percent now takes in an
astounding 16 percent of national income, up
from 8 percent in 1980. §
—James Webb, Democratic Senator-elect from Virginia,
The Wall Street Journal, Nov. 15, 2006

In fact, in the last two decades, the distri-
bution of income has become less equal.
Since 1977, the share of income earned

the lowest three fifths has decreased by
percent, w e share earned by the
top 1 percent has more than doubled.
@ CHECKPOINT What does income disiribu-

2 B o2 u_m
tion tell economists?




Profile: Social Worker
Duties:
Possible Careers e provide social services and assistance to improve the
= Firefighter ; well-being of children and their families ,
s Police officer ‘ « provide needed support to those coping with disease or ©

@ Tax examiner chironic iliness

e Magistrate e counsel individuals with mental iliness or substance % wilf B
!« Sheial worket ahuse problems Median Annual Salary: Career Link Activity
e License clerk Education: » $45,800 (2007) Choose another career in civil
e Correctional officer i Future nrospects: service from the list of possible

[ vv‘"vvuw

e The aging baby boom careers. Create a profile for
y reqmred generation wd; create greater | that career similar io the one
for posut:ons in health demand for social services, for Social Worker.
settings resulting in rapid job growth
Skills: for gerontology social
e sensitivity to people WOrKers,
and their problems e Strong demand is expected
e ahility to maintain for substance abuse social ¢
good relationships workers.

; Aﬁﬁm@wﬁﬁy Policies an earned income of $40,363 and two
( - ' children would receive a maximum credit

As you read in Chapter 3, the government-" of $5,036
snends billions of dollar programs

w
<
-
=

usta‘whsh ed i

’JQ

des igned to reduce poverty. This money is e ; : i |
Lo o the Social Se olltaxon low~mc,omc g
spent mainly on cash assi ‘mm;@, education, . S e
_ families, hc been expanded over

med ")(,nﬁfxts and non
foad stamps a
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. 2005. the
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block grants federal
funds given to the states
in lump sums

workfare a program
requiring work in
exchange for temporary
government assistance

earn an adequate income. In addition, the
federal government has made a minimum
wage mandatory since 1938. The minimum
wage ensures that workers’ hourly pay will
not fall below a certain point.

The government also has programs to help
poor people obtain affordable housing.
In one approach, the government makes
payments to landlords who then lower the
rent they would otherwise charge. In another
program, poor people receive vouchers that
cover part of the rent they pay. The third
approach is government-owned housing,
which charges low rental fees.

Poor people often cannot afford basic needs,
such as food and medical care. The United
States has long had a welfare system that
provides for those basic needs, especially for
children and the elderly. That system under-
went major reform when President Clinton
signed the Personal Responsibility and Work
Opportunity Reconciliation Act of 1996.

7. Describe at least

This welfare-reform plan responded to
criticisms that welfare encouraged poor
people to remain unemployed in order
to keep receiving aid. It replaced the
traditional antipoverty program for poor
families (Aid to Families with Dependent
Children, or AFDC) with a new program
called Temporary Assistance for Needy
Families (TANF). TANF eliminated cash
assistance for poor families. Instead, the
federal government provides block grants,
or lump sums of money, to the states. The
states are now responsible for designing
and implementing programs to move most
poor adults from welfare dependence to
employment TANF also set a S-year limit
on receipt of benefits

The plan calls for a shift from welfare
to workfare—a program requiring work
in exchange for temporary assistance from
the government. It was hoped that this
reform would reduce poverty by providing
poor Americans with labor skills and
access to a steady, adequate income.

& CHECKPOINT What was the goal of TANF?

To continue to build a

Esse ﬁiﬂi ﬁ%ﬁ%@mm response to the Essential
Y - Question, go to your

Essential Questions Journal.

1. Use your completed table to answer
this question: What factors affect the
poverty rate?

2. Extension Two candidates for your
state legislature have outlined their

plans to reduce poverty in the state.

candidates will debate nexi week|

The

The i

and the public Is invited to submit
(IRl i i it - i1
S

10
o

8. What is the &.«oyrflm Curve and what
does a current Lorenz @ ;
about the distribution of income in
the United States?

mESH ECONOMIC CHALLENGES

the government combats poverty.

8. Extend (a) What kinds of families
are more likely to live in poverty?
{b} Why do you think these families

o prrenebese el

have a greawe
9. Predict {a} Wha
for dﬁ&;renue—;a

no nnmr‘?

ting W

MY

i 1
new pmgra m‘? !& What are some

drawbacks? Explain your answers.

1. Reread the text under the income
Gap heading in this section. Then
write two paragraphs on the income:
gap. inthe first paragraph, describe
how the income gap affects society,”
including economic growth and
standard of iwmn in the second

paragraph, predu what the long-

term effects waui”‘ bﬁ %f ihe income

gap increased, i

acts would be if

decreased.
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_ effects of inflation? Section 3 What
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.
overly rate?

frictional unemployment, p. 335

globalization, p. 337
seasonal unemployment, p. 338

cyclical unemployment, p. 338
Eesontial Guestion, Chagler 13

- How much can we reduce
unemployment, inflation,
and poverty? underemployed, p. 340
 discouraged worker, p. 341

unemployment rate, p. 339
full employment, p. 340

inflation, p. 342
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price index, p. 343
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Key Terms and Main ideas

To make sure you understand the key terms and main ideas
of this chapter, review the Checkpoint and Section Assess-
ment questions and look at the Quick Study Guide on the
preceding page.

Critical Thinking

1. Predict {a) What does the unemployment rate tell about
a country’s economy? {b} How is full employment related
to the unemployment rate? {c} What issues might arise if
the economy reached full employment?

2. Apply (a) What might cause infla-
tion in food prices’7 (b) How would

w

{c) How could this type of mﬂa‘non
contribute to unemployment and
poverty? Explain your answers.

3. Draw Conclusions {a} According
to the quantity theory, how can
the government limit inflation?

{b} What other tools can the
government use to control inflation? (¢} Why would the
government want to reduce inflation?

4. Extend (a) What are the most recognized causes of
poverty? (b) What kinds of assistance might a poor
family be able to get from the government? (c) What
combination of personal action and good fortune could
help a person rise out of poverty?

5, Make Judgments (a} On May 25, 2007, President
George W. Bush signed a bill to increase the federal
minimum wage in three steps: to $5.85 per hour starting
in July 2007; to $6.55 per hour starting in July 2008; and
1o $7.25 per hour starting in July 2009. What are some

possible resulis of raising the minimum wage? b} "\li]y

10. Complete this activity to answer the Essential Question
How much can we reduce unemployment, inflation,
and poveriy? Your ciass should be divided into three
grouns. Each group is advising the President of the
Lsrafmrﬁ States on ways ’T: *rm fed vernment

%mémaﬁﬁm
information:
{a} With globalizati

ym@f’zi’? Wh
our plan?

What strategy © ies would you recommend
to reduce mﬂa’t on? What is one benefit and one
drawback of your plan?
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selfs?'eg% To test your understanding of key terms and
“onl .. Main ideas, visit PearsonSchool.com/PHecon

do you think the government chose to raise the minimum
wage in stages, rather than all at once? {¢} Do you think
this is a good strategy? Why or why not?

Applying Your Math Skills

Calculate the inflation Rate

Use your math skilis and the formula below to answer the
following questions. Suppose that the CP! for last year was
164 and that for this year it is 168.

Visit PearsonSchool.com/PHecon for additional math heip,

Calculating the Inflation Rate
To calculate the inflation rate, use the following formula:

CPI for Year A minus CPl for Year B divided by CP| for Year B
mnitiplied by 100

For example,
If the CPI for 2004 (Year A) = 188.9
and the CP! for 2003 (Year B) = 184.0

hes,
188.9-184.0=4.9

4.9 51840 = 027

IGSU = LU

027 x 100 = 2.7

Theretore,
the inflation rate for 2004 was 2.7%.

6. Calculate the inflation rate from last year to this year.

7. Suppose the CPl for the year before last yearw
ar to last year?

[0

was the inflation rate from the previous y

8. If the inflation rate were 0%, what would the CP! be for
next year?

G. If the inflation rate were 10%, what would the CPI be for
next year?

Essentl al

Gﬁ@gi mﬁﬁ To respond to the chapter Essential Question, §
irRal - go to your Essential Questions Journal.
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(¢} What strategy or strategies would you recommend
to reduce poverty? What is one benefit and one
drawback of your plan?

11, Modify Present your gmum"@ ideas to the class. As a

class, discuss the suggestions from all the groups.

{a) What are the best ideas mr reducing unermploy-

it ] s and oy
entitl @mem programs coulid put
below the poverty level) How?
{cy How can these conflicts best be resoived
{d} At the conclusion of your discussion, ident
which steps you think would be most tﬁ‘f@f;‘tm’@ an
most acceptable to the majority of the population




Should the government help the poor?

in the United States, the federal government and local
q@vemmm s provide many kinds of welfare assistance to
the poor. Some people argue that this aid is necessary to
nelp reduce poverty. Others believe that providing welfare
is not an appropriate role for government, and that private
organizations can do a better job of helping the poor. Sorme
aiso feel that government aid makes people less able and

m”lmﬁ W\ aarn A m\;m(} m({mr)mw"}@nh\/

Document A

“Woluntary charities and organizations, such as friendly
societies that devoted themselves to helping those in

, Hourished in the days before the welfare siate tumed

ﬂanty into a government function.... Today, government
welfare programs have suppiemented the old-style private
programs. ... Releasing the charitable impulses of the
American people by freeing them from the excessive tax
burden so they can devote more of their resources to charity,
is & moral and censtitutional means of helping the needy.”
-—Representative Ron Paul (R-TX) in the U.S. House of
Representatives, February 13, 2003

Document B
“What's most overwhelming about urban poverty is that
it’s so difficult to escape—it's isolating and it's every-

r gh, rhoods, yo can

where....\When you're in these nel
o]

cares. You can see what a free lunch program does for a
hungry child. You can see what a little extra money from
an sarned income fax credit does for a family that’s strug-
gling. You can see what prenatal care does for the health

of a mother and a newbhorn. So don't tell me there's no
role for government in lifting up our cities.”

~Senator Barack Obama {D-1L) speech in Washington, DC

’

fuly 18, 2007

www . barackobama.com

Bocument C

Food Stamp Program Participation
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SOURCE: United States Department of Agriculture, Food and Nutrition Service
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ise your knowledge of government aid to the
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'WRITING ABOUT :
Whether government aid is the best way 1o reduce povert
an ongoing guestion. Use the documents on this paqa mnd
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